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1-i i

aRwema- | l_i]ﬁﬁﬁi:\f—_l%.
At frfafiga 3§ & S T FE R 2
Aefifda 2

®) A fmefidfa 2

© (A)T+A ehfdae

(E)T + A Rrmefifda @

(a)

(d)

[12_&]"’ ¥ Rz s # x A T FeEE
a;at%?

(a)
(b)

(c)- 90

180
120

@ 72

g

(1+2x—x2)6=30+a1x+a212+"_+312x12%’
ﬁlﬂo—a1+a~z—a€,+514—...+::112‘i§=‘l?x‘5ﬁ-7'&'Ilil'{
1 &

(a) 32

(b) 64

(c) 2048

(d) 4096

af (20, n + 2) = C20, n — 2) ¥, @ n FFEH
TR ?
(a) 18
(b) 25
(¢) 10
@ 12

(2-A)

: 0 k 4
k%ﬁﬁﬁuﬁ%i’m,w&m[—k 0 -5}
-1 e
SR R ?
(a) <had TH
(b) ha@ QA
(¢) “had dR

(d) 34

e (1101101 + 1011011), 1 e T5fd

for ate for@r w1 gt @ ?
(a) (198);,
(b)  (199);,

(©  (200)yq

@ (201,

% log, 1024 - logg 10 + -15— log; 3125 1 HH

TR 2
(a) O
(b 1
[
d 3

afz x = log, (ab), ¥y = log,, (be), z = log,, (ca) 2,
# frferfias § @ ST @ R 2

(a) xyz=1

b)) x+y+z=1

© Q+0t+@+y? +(Q+2i=1

(d) 1+ 2+ (1+ v 2+ (1+ z) %=1



1. IfmatriiA: [1_—: Il—i—iJ where;i:\/:i,
then which one of the following is correct ?
(a) A is hermitian
(b) A is skew-hermitian
(€ (A)T+ A is hermitian
(@ (&) + A is skew-hermitian
2. The term independent of x in the binomial
expansion of (;22- ~Jx )10 is equal to
(a) 180
(b) 120
(¢) 90
(d) 72
3. If(1+2x—x2)6=an+alx+a3x2+...+a12x12.
thenwhatisao—al tay-a3+a,—..+a,
equal to ?
(a) 32
(b) 64
(c) 2048
(d) 4096
4, If C(20,n + 2) = C(20, n - 2), then what is n
equal to ?
(a) 18
(b) 25
e} 10
(d 12
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For how many values of k, is the matrix
0" kiid

-k 0 -5| singular?
~k k <1 :

(a) Only one
(b) Only two
()  Only four
(d) Infinite

The number (1101101 + I(lell}ll)2 can be
written in decimal system as

(@ (198),,
®)  (199),,
(©  (200),,

@ (201,

What is the value of

= log; 1024 — log; 10 + < log; 3125 7
(a) 0

(b) 1

£e)il . 2

d 3

If x= log_(ab), y = log, (be), z = logy, (ca), :
then which of the following is correct ?

(a) xyz=1
(b) x+y+z=1

@ A+x '+ A+ liaszizg

@ A+02+0+y240Q+202=1
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maﬂma{“” yy],B:[z}afR

2x  x-
c=[§}%uaﬁm=c€r,zﬁij
Tl &1 HH R ?
(@) —10

b -14
© -24

(d) -34
ﬁ1—55x54-5%,ﬁﬁﬂﬁmﬁﬁm-m
TH FE R ? :

(a) (2x-3)(2x-9)>0

b) (2x-3)(2x-9)<0

) (2x-3)(2x-920

d @2x-3)(2x-9=<0
TR e S=(1,223 .81 SxSWTH
HeY R, ﬂyﬁm%ﬂﬁlogax>logay
aaa=~;—%|aauzﬁzia%

(a) haw T@IH
() Haw gafa
(e) Hae HhH
(@ uqﬁa'aﬁtﬁa:maa’i

(4~

a h B X
18. ﬂﬂ?ﬂﬁQA=[h b f}aﬂnz: y}%,?ﬁ
g £ ¢ Z
AB fores sU= 8 ?
ax + hy + gz |
(a) y
z
[ax + hy + gz |
(b) hx + by + fz
L % o
[ax + hy + gz
(e) hx + by + fz
L gx +fy+cz |

(d [ax+hy+gz hx+by+fz gx + fy + cz]

14, ¥z ‘ABLE ¥ &l # sgafem w9 ¥ W
Fft 6 ge w0 2, REd = W oww wE
W & ? '

(a)

2
(b) 4
() 6
@ 8

15. uia (5) sAfeETdt get & whress fgat #
Hfraan wEn #4018 ?

(a) 10
(b) 15
() 20
d 25

A)



9. Let A= [x;y xfyjl’ B- [_21] and
C= BJ -If AB = C, then what is the value of
the determinant of the matrix A ?
(a) -10
(b) - —a34
(&) -24
d -34
10 I 15 < x <45, then which one of the
following is correct ?
(@ (2x-3)(2x-9)>0
(b) (2x-3)(2x-9)<0
(€0 (2x-3)(2x-9)20
(d (2x-3)(2x-9)<0
11. LetS=1{(1, 2 3, ..}. A relation R on S x S is
defined by xRy if log, x > log, y when a = %
Then the relation is
(a)  reflexive only
(b)  symmetric only
(¢)  transitive only
(d)  both symmetric and transitive
12. What is the value of the determinant
TR AR
4508 i8 | wherei = J=17
2 2 5
(@ o
b -2
) 4
d -4
KJU-S-TMS (5-

13.

14.

15.

A)

a hig x
letA=|h b f| andB = y |, then what is
2. 1. z
AB equal to ?
|'ax+hy+gz"
(a) y
i % J
rmc‘c-hy+gz'[
(b) hx + by + fz
L iR
|_ax+hy+gz1
(c) hx + by + fz
| 8% +1y +cz |
(d) [ax+hy +gz hx + by + fz gx + fy + cz]
What is the number of ways in which the

letters of the word ‘ABLE’ can be arranged so
that the vowels occupy even places ?

(a) 2
(b) 4
e} 8
(d 8

What is the maximum number of points of
intersection of 5 non-overlapping circles ?

(a) 10
(b) 15
(€ 20
d 25




syt T (08) XAl @ forg A3 : sy 3 (02) TvAT & forg 39 :
ﬁn%f@ﬂaquﬁ@mﬁmaﬁﬁq,aﬁx,Yaﬂtz Brefefs e @ 9feg o e g W & I
&= wge # | oW i R 7.8 aaal & aed H | FT
n(Z)ﬁﬁEQ%mmiahﬁﬁso%mtl

e o 5 12234 _ g ol tan A # 03
N tan A

B | Ke s ?

19. tan? A fFes ST 2 ?

K+3
; (a)
16. Ryl 73 smEdl $ Fen 4: 5% T # 3K -1
2 ApFAAFNR?
) a8 K-3
(b)
b) 19 3K -1
e 21
@ 23 3K -3
(e)
K-3
17. n(X)+n(Y)+n(Z)—n(XﬂY}—H(YHZ)—
n(XﬂZ)+n(XnYﬂZ)
1 UH MR ?
@ ;;*31
(a) a+b+43 -
(b) a+b+63
(¢) a+b+96 20. mA%aﬁ%ﬁqﬁ%%ﬁ,Kﬁ:ﬁ%a‘\aﬁ
@ a+b+106 T & W R 7

18, TR W @ AR xAE TYHAE M3 @ < 33
& 2 &, € Fon pd, @ X § I i
& G =R ?

b 3l
(a) p+b+60
(b) p+b+40 © %aﬁ'{s
(¢) p+a+60
(d) p+a+40 @ %31‘\'{7
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Directions for the following three (03) items : Directions for the following two (02) items :
Consider the following Venn diagram, where X, Y |Read the following information and answer the two
and Z are three sets. Let the number of elements in |items that follow :
Z be denoted by n(Z) which is equal to 90.
X : Let oA =K, where tan A # 0 and K = l
m tan A s 3
éva 19. Whatis tan?A equal to ?
Z ( K+3
B
16. If the number of elements in Y and Z are in
the ratio 4 : 5, then what is the value of b ? b) K-3
(@) 18 i
(b) 19
© 21 3K-3
(e) K3
(d 23
17. What is the value of K+3
n(X) + n(Y) + n(Z) - n(X N Y) = n(Y 1 Z) - W
nXNZ)+nXNYNZ?
(a) a+b+43
(b) a+b+63
(¢ a+b+96 20. For real values of tanA, K cannot lie
between
(d a+b+106
(a) 2 and 3
18. If the number of elements belonging to neither 3
X, nor Y, nor Z is equal to p, then what is the
number of elements in the complement of X ? m 1 and 2
2
(a) p+b+60
(b) p+b+40 (e) -;-and5
(¢) p+a+60
1
(d p+a+40 (d) ?and’f
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st 3 (02) FAT & forg g ‘ 04, A 3 B wew =pww @ e ¥ fE
Frrferfn T F 9RT IR ST T I & IH cos 2B = 3 sin? A 30N 3 sin 2A = 2sin 2B ¥ |

it

f ; (A + 2B) T 7F F1 R ?
mcnqaw(tﬂﬁﬂm)wm%%w :

s CD T § 3 BC | W w&@ & | AW @ =
SUELRED / ADB = 0, £ ABD = a, BC = p 3 6
CD=q? | %
o 5
91. =i w fem i
1 ADsin0=ABsina (e) %
2. BD sin 6 = AB sin (0 + @)
I § ¥ R/ T & (@ %
(a) Fad 1
(b) had 2 ’ . 3 i
25. sin 3x + cos 3x + 4 sin X—3sinx+
(c) 131\'{2ﬁ 3
?ﬁ qﬁ!z Gcosx—4cos” X
o). W, farass ST B 7
99. ABTra® s R 7 (@ 0
(a) (92 +q2)sinB ® 1
pcosB+qsin® (¢ 2sin2x
(b) (pz—qz.') (;059 (d) 43054X
pcos O +qsin®
" (o +q2)sin® 26. y=2j-cosx§im%ﬂﬁlm(ﬂ'ﬁﬁ)$lm
qcos 8 + psin 6 frg s d fR@ R ?
0,1
= [pg _q2) o (a) [ 1
qcos® + psind b [0,3]
cos17° —sin17° B B
23.ﬂﬁtane=._5__i——%?heaﬂm -
cos 1T +8in 17" @ 1,3
FR?
@ 0° 97. 8cos10°. cos20°. cos 40° F1HH TR ?
®) 28° (a) tan10
(b) cot10°
(e) 38°
(¢) cosec 10°
@ 52°

(d) secl0®
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Directions for the following two (02) items :

Read the following information and answer the two
items that follow :

21. Consider the following :
i B ADsin®=ABsgina |,
2. BD sin 8 = AB sin (8 + «)
Which of the above is/are correct ?
(a) 1only
(b) 2only
(¢) Both1and?2
(d) Neither 1 nor 2
22. What is AB equal to ?
% + q?) sin 0
(a) —————
pcosf+qgsin B
gl g
(b) (p* -q°) cos 0
pcosf+qsin
(@* +q*)sine
(€0 —=2—"""
qcos B+ psinf
9. .9
@) (p° —q°) cc?s ]
qcosO+psind
28. Iftan @ = °°8 17 —sin17 , then what is the
cos17° +8in17°
value of 6 ?
)
(b) 28°
(®) - 387
(d 52°
KJU-S-TMS (9-

ABCD is a trapezium such that AB and CD are
parallel and BC is perpendicular to them. Let
AADB:Q,:ABD=a,BC=pandCD=q.

24,

26.

27.

A)

A and B are positive acute angles such that
cos 2B = 3 sin® A and 3 sin 2A = 2 sin 9B.

What is the value of (A + 2B) ?
(a) %
(b) g
(c) :—;—
@ 2
What is

sin3x+c033x+4s'm3x—3sinx+
3 cos x— 4 cos® x

equal to ?

(@) 0

(b) 1

(e) 2sin2x
(d) 4cosdx

The value of ordinate of the graph of
¥ =2 + cos x lies in the interval

(@ [0,1]

(b) [0,3]

© 1,1

d ,3]

What is the value of

8 cos 10°. cos 20°. cos 40°?
(a) tan10°

(b)  cot 10°

()  cosec 10°

(d) sec10°




98. cos 48° — cos 12° 1 WF T 8 ? syt @ (03) T & forg 39T :

G J5 -1 ﬁnﬁrféﬁmﬂﬁ#v&qaﬂrmﬁaﬁwﬁ%
4 IR T :
(b) 1'4‘!5 wr ehfere fon
asin2x+bm32x=c;hsin2y+aw32y=d
(c) J52+1 : 3 ptanx=qtany 2
= 1-J8 ; 31. tan?x FFEsh aUL R ?
8 (@) c—-b
09, Prffiga wudl  fomm i : Dtk

. aft ABC wh @ERW Be R, AW iy old
Wﬂ%ﬁtﬁs&nfi:%%,?ﬁ
cosecC=3% | (B e

! ﬂﬁbcosB:ccosC% s afg Bryw
ABC @@ B & 8, M ABC ¥ . e

£ wwfgarg B B =1fey | c-a
Iy e § & B T AR 2 g9, 98 frd w2
(a) had 1 b-d
(b) HaA 2 (a) sin’y
(c) 13ﬂ1 2?—,"1‘3 (b) cos?® y
@ a1, TIA2
(¢) tan?y
30. Prefirfiga s @ fam Hif ' (d cot’y
L afe foeh fryst ABCH, A=2B3M b=c p?
2. 1 a v s s g | 33. q—zﬁﬁaiﬁarm%?
o e @ e ABC TE & R A = 40% - b-c)b-d)
B = 65° 3N % — sin 40° cosec 15°® | (@a-d(@a-c
: fa-d)c=n)
e o B & A T A ® G-9@-b
(a) a1 o (d —a)(c—a)
(b) HaA 2 (b-c)(d—-b)
© 1323 i (b—-c)(b—d)
@d AMLITR2 (c—a)(a—-4d)
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28. What is the value of cos 48° — cos 12° ? Directions for the following three (03) items :
Read the following information and answer the

(a) ‘/54_ 1 three items that follow :
& Let asin2x+boos2x=c;bsin2y+acos2y=d
(b) 1-45 and ptanx=qtany.
31. Whatis tan?x equal to ?
V5 +1
(c)
2 -
(a) ; ":
1-J5
(d) 8
(b) :‘:
29. Consider the following statements :
1. If ABC is a right-angled triangle, @ & ‘:
> Fy.s
right-angled at A and if sin B = % , then
cosec C = 3. - b
c—a
2 IfbcosB:ccosCandifthet.riangle
ABC is not right-angled, then ABC must 0
be isosceles. 32. Whatis o) equal to ?
Which of the above statements is/are correct ? i
(a) 1only @) sy
(b) 2only (b) cos?y
(¢) Both1and?2 @ Canty
(d) Neither 1 nor 2
(d) cot?y

30. Consider the following statements :

2
L. If in a triangle ABC, A = 2B and b = ¢, |33. What is P~ equalto?
then it must be an obtuse-angled triangle. q

2. There exists no triangle ABC with A = 40°, @ (b—c)(b—-d)
B=65°and 2 = gsin 40° cosec 15°, (@a-d@-e
c

: 4 3 b @-de-a)
Which of the above statements is/are correct ? m_—b)-

(a) 1only
© (d-a)(c—a)
(b) 2only \ (b—c)(d-b)
(c) Both1land?2 ‘@ (b—c)(b—-d)
(@) Neither 1 nor 2 c-a)(a-d)
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sy @ (03) TvT & farg AT : syt @ (03) ST @ ferg 3897
ﬁnﬁﬁﬂmﬁﬁv@emmwyﬁ%ﬁnﬁﬁﬂwﬁﬁm@qaﬁtmmwﬁi

Hﬂ%ﬁﬁﬂ!%tn=sin“9+cosnﬂgl qﬂ?ﬁm%a=ﬁ=l5“%|
g4, 13- %5 fmd wue R ? 37. sin o+ cosp 1 HHE F1 R ?
ts —tg .
(a) —:‘?.-
(a) h
t3 i
(b) —_—
242
(b) t—3
5
i (c) -—2"?5
(c) o
tq Jg
¢ (d) >
(d) t—‘ ?
7
38, sin?a—cos?ﬂﬂmﬂ'l%?
e S
35. t2—t, e SR ? J2
(a) cos20 b o
i 242
(b) sin 26
() 2cos0 (e) EJJ%
(d) 2sinb
(d) —JJ%
36. tmmmw%,a's’fe=45°%? 89. sin (o + 1°) + cos (B + 1°) e U R ?
. (a) J3 cos 1° + sin 1°
1
" 4 (b) chos 1°—%sin1°
e 1
16 (c) TE(\@ cos 1° —sin 1°)
1
fd)" =
32 (d) %(\Ems 1° + sin 1°)
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Directions for the following three (03) items : Directions for the following three (03) items -
Read the following information and answer the|Read the following information and answer the
three items that follow : three items that follow :
Let t_ =sin™ 0 + cos® 6. Leta=p = 15°,
37. What is the value of sin a + cos B?
84. Whatis 3% oqua1t07 _ ;
ts —tg (a) e
J2
(a) :—1 1
3 b)) —
242
tg
(b)) . =
ts () _ﬁ
2V2
ts
( =5
iy > @ B
v2
(d) f-l-
2 88. What is the value of sin 7a - cos 78 ?
1
(a) —
85. Whatis t*—t, equal to ? : V2
1
b)) —
(a) cos?20 2/2
(b) sin 20
(e) ;[_5_
(¢) 2cosd 2.2
(d 2sin8 @ ﬁ
V2
36.  What s the value of t,, where 6 = 45° 7 39. Whatis sin (a + 1°) + cos (B + 1°) equal to ?
(a 1 (@) /3 cos1° + sin 1°
1 p 1
(b) ry (b) V3cosi1°o- 3 sin 1°
1 1
b © —=(/Bcos1°~sin17)
@ 1
32 @ 2 (¥/3 cos 1° + sin 1°)
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40. AR sinx+sny=cosy-cosx T, el | 43, ﬂﬁwtuﬁicotﬂmxz—3x+2=0%’b
'b<y<x<“§%,a’!m[xﬂy]ﬁmﬁm %%,?ﬂmt(u+ﬂ)mmt?

2
27

1
(a) E

(a) .0
1
) =

1
b 1 3

(b) )
(c)- -8

@) - ;2
d 3

d 2

4L A A 3 x5 FR () BT A ¥ A 4q o af p el e wefien A & S w
B.5x3FR 71 0H I 2, WABIHBA| o4 poo? s p2 Il op = o EGR FAR |

&1 ifeat saw: w0 A 2 ¥ feama w1 e =R ?
(a) 3x3 AN 3x3

( 0

(b) 3x5 AL 5x3 e
(© 3x8 3R 5x5 b 2
(d 5x3 3 3x5 © 3
d 4

42, qﬁp2,q23ﬂtr‘2(ﬂ'éfp,q,r>0§)ﬂﬂﬁmaﬁ
Gp) & & @ Fefufe # 3 FRaA @
a0 | 45. wfEn e i:'gaﬁﬁ §, =
1. p,q3i r1uieR 3 GPY A E | Sl
9. Inp,inq3N inrEEid FA AP)HE |

#r R e e w1 A IR IAT (a) 240°
(ﬂ-) aﬁa 1 (b) 210°
(b) had 2

(e) 120°
(¢) 13T 28Al
d A@MLAH2 d 60°
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40'

41.
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If sinx+si.ny=oosy—cosx, where

; y} equal

O<y<xc< g—.thenwhatistan (x
to ?

a) .0
1
(b) 3

e 1

d 2

If A is a matrix of order 3 x 5 and B is a
matrix of order 5 x 3, then the order of AB and
BA will respectively be

(@ 3x3 and 3x3

- () 3x5 and 5x3

(¢) 8x3 and 5x5

(d 5x3 and 3x5

If pz,qzandrz(wherep,q,rbﬂ)areinGP,
then which of the following is/are correct ?

1. p,qandrarein GP.

2 Inp,ln qand inr are in AP,

Select the correct answer using the code given
below :

(a) 1only

(b)  2only

(c) Both1and?2

(d) Neither 1 nor 2

45.

(15-A)

If cot a and cot B are the roots of the equation
x2-3x+2= 0, thenwhatiscut(a+_ﬂ} equal
to ?

1
(a) -2-

1
(b) 3
). 2
@y = 8

The roots a and B of a quadratic equation,
satisfy the relations o+ B = o + §2 and
af = o?B2. What is the number of such
quadratic equations ?

(@ o
(b 2
3
@ 4

What is the argument of the complex number

l-iﬁ,wherei= J=1?
1+i3

(a) 240°

(b) . - 210°

() - 120°

(d 60°




“.

47.
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afesy e 2801800 oo 1R W
cosB—isin®
YT R 7
:
(a) E
® 1
3
(C) E
@ 2
{1, 2, 3, 4) % 3faa IuEg=El W fmm HRT |

=7 3fm seogeRt # @ et Y= 8) %
Ffeg=a & ?

(@ 5
() 6
© 7
@ 8
am efifm fF p, q 3R r A FE-HAT
(fm) oo awdfes wemd § O AR

e T ¢

D=|q r p|? @ foafafes § &

r P 4q
81 T TE R ?

(a) D<0O

() D=0
(¢ D>0

(dd D=0

49.

50.

4 (1 + x° F x H IR (st gg) i A
yar fban omr @ A w@ wem A sAfen o=
TR ST AT TR ?

256

512

1024

2048

(a)
(b)
(c)
(d)

R 3 a9 @ FeEia e ® ded A
frfafea w famm Hife

1. AfadjA)=(adjA)A

2. |adjA|=|A|

T Fol B § FHA-AVE WE AR 2

Fad 1

*ad 2

13 28Hi

@ Far 1,782

(a)
(b)

(e)

51. d9d (x — 2a) (x = 2b) + (y — 2¢) (y — 2d) = 0 I

(16-A)

FgIETTR?
(a) (2a,2c)
() -(2b,2d)
(c)
(@
farg (1, —1) el af o1 o o B ) AR W H
u frol & S 8x + 2y = 5 B, @ g
fersput a1 ErefieRor T R 2

(a)

(a+b,e+d)
(a—b,e—d)

3x-2y=5
bh) 2x-3y=1
(e 2x-3y=5H

(d 2x+3y=-1




46.

47.

What is the modulus of the complex number

1
(a) E
(hy=-+1

3
(e) E
d 2

Consider the proper subsets of {1, 2, 3, 4}. How
many of these proper subsets are superset of
the set {3] ?

(@ 5
() 6
e 7
d 8

48. htp,qmdrbemreedhﬁnamsiﬁvemm

P S

numbers. If D = ([q r P |, then which
| T 3 g

one of the following is eorrect ?

(a D<o

(b) D<o

(¢ D>O

d D=z0

KJU-S-TMS

49,

51'

(17-A)

What is the sum of the last five coefficients in
the expansion of (1 + x)° when it is expanded
in ascending powers of x ?

(a) 256
(b) 512
() 1024
(d) 2048

Consider the following in respect of a
non-singular matrix of order 3 : :

1. A (adj A) = (adj A) A

2. |adjA| = |A|

Which of the above statements isfare correct ?
(a) '
(b) 2only

1 only

(¢) Both1and2

(d) Neither 1 nor 2

The center of the circle :
(x —2a) (x - 2b) + (y - 2¢) (y-2d)=0 is

(a) (2a,2¢)
(b)  (2b, 2d)
() (a+b,c+d)
(d (a-b,c-d)

The point (1, -1) is one of the vertices of a
Square. If 3x + 2y = 5 is the equation of one
diagonal of the square, then what is the

equation of the other diagonal ?
(a) 3x-2y=5

(b) 2x-8y=1

() 2x-3y=5

d 2x+3y=-1




53. ww fm B Pxy FeRt delgm|s7. o ffwe 76 ABC @ fyw ® 1 3R D@, 5)
95x2 + 16y = 400 T 1§ fig ¥ 1 3R QO, 9 SN E(5, 9) 9 YE AB 3 AC ¥ wea-fag
R RO, -3 2 fg & @ PQ + PR) FFE® £, @ sy BC ) oA # R ?
O R ?

(a) 8
(a) 12 &) /10
(b) 10 . 18
b d 14
(d 6

58. af fig (0,10 & @ 3x — 4y — 5 = 0 W W= T

54 aR Yal x+2=0 y+2=0 M|  GawmurmE DY VLFAHFR?
U+y+2=0ﬁaﬁﬁﬂﬂwqﬁaﬁ(-l,~l)3,

Al kS AH R ? (@) 3
Wy (b) 4
by -2 @ b
@ 1 (d 6
(d 2

59. <7 Yaradl % = w1 st ww R, REd

55. WEeH y? = x #, ¥i§ & TR T AN x-AE yauraTE 2 - V3 W2+ V3 B ?
£ 3in o & ol g S A i w0 R 2 (@) 105°

(a) sin0.sec’d (b) 120°

() cos @ . cosec®0 () 135°

(¢) cot. sec2 0 (d) 150°

(d) 2t.an9.cosec29
60. qﬁax-4y—5=oaﬂtax-4y+15=0%vﬁ

. ; it H TE i wqeftEToT
w.ﬁ:anﬁaqaam,ﬁg(a,b),(c,d)afﬂ - sl % T I F g

a1 o w1 EEhE F1 8 ?
(a-c,b—d}ﬁf@%? g
(a) 49 TS
(a) ab=cd
(b) ac=bd ® o=l T
(¢ ad=be (© 1631 TP
(d) abc=d @ 2591 8

KJU-S-TMS (18-A)




83, Let Pix, y) be any point on the ellipse
25x% + 16y2 = 400. If Q(0, 3) and R(0, - 3) are
two points, then what is (PQ + PR) equal to ?
@ 39
(b) 10
(c) 8
d 6

54. If the circumcentre of the triangle formed by
the]inesx+2=O,y+2=0andkx+y+2=0
is (=1, —1), then what is the value of k ?

(a) =1
h)s -2
il
d 2

55. In the parabola, y2 = X, what is the length of
the chord passing through the vertex and
inclined to the x-axis at an angle 6 ?

(a) sinB.sec?p

(b) cos6.cosec?d
(e) cotB.sec?d

(d) 2tan@.cosec?g

56. Under which condition, are the points (a, b),
(¢,d) and (a — ¢, b — d) collinear ?

(a) ab=ecd
(b) aec=hbd
(¢} ad=he
(d) abe=d

KJU-S-TMS

87.

58.

(19-A)

Let ABC be a triangle. If D(2, 5) and E(5, 9)
are the mid-points of the sides AB and AC
respectively, then what is the length of the
side BC ?

(a 8

(b 10
(c) lé
d 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x — 4y-565=0is (3, 1),
then what is the value of k ?

(a) 3
(b) 4
© &
d s

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + J3 ?

(a) 105°
(b)

(c)

120°
135°

(d) 150°

If 3x ~4y-5=0 and 3X -4y +15=0 are
the equations of a pair of opposite sides of a

square, then what is the area of the square ?

(a) 4 square units

(b) 9 square units
(¢) 16 square units
(d) 25 square units




61. g e ¥ =m H was w7 @ | 65. mmmmﬂmw%a’t‘z-mmw
g QO -2 9 q ® ot S wHad aiﬁ;@vsaqﬁz(wré)m%aﬂtxy-aa%

6x-3y+2z—4=oaﬁmafmi? oI & ?
(@) 1% (a) x+y=b5
(b) 2% ) .
© Sﬁﬁﬂ () z=0
@ 4§m§ d x+y+z=5
#* £ = 66. 5 xyd@ § wH e (TE) Eiew El
62. fig (2,8 4 3 W@ x-0_y-0_2-0 566 e = (71%) N
: 1 0 0 T X3 % T 30° 1 PO @ B, @
R ? A fopash sU 2 2
(@) 6FPE P
3i+
(b) 5T (@) - :
(© BFhE X
‘ o Bai=d
@ 278 2
14433
63. afs ferehl e % fesp-argd © 2
<a+b,b+c,c+a>ﬁ,?ﬁwﬂﬁ$ﬁ@13ﬁ
¥ il o ArTeet R ? N {335
2

(a) (a+b+ o’

a+b+
i AP 67, T i 5 A e (@afi/am) 3 v

o S5 ﬁg%ﬁs|6?a|=1za,aﬁou@-ﬁgama
@ 1 OA x-3181 30T y-318 % €Y FHAA: 45° 3 60°
&1 07 S &, A OA Rre st B 2

MW(m)ﬁﬁimmﬁﬁﬁ @ 6€+631J§ﬁ

Sy@et #f fawfoa s & 2

(@) 2 b 61 +642] t 6k
4’ N A

s © 6421 +6) % 6k

ey B

@ 16 @ 8423 +3] t 6k

KJU-S-TMS (20-A)




61.

62.

KJU-S-TMS

What is the length of the diameter of the
sphere whose centre is at ( 1, - 2, 3) and which
touches the plane 6x — 3y+2z-4=07?

(a) 1 unit

(b) 2 units

(¢) 3 units

(d) 4 units
What is the perpendicular distance
from the point (2, 3, 4) to the line

x—O_y—O_z—O,
1 0 oF -

(a) 6 units

(b) 5 units
(c) 8 units

(d) 2 units

If a line has direction ratios
<a+b, b+e, ¢+ a >, then what is the sum of
the squares of its direction cosines ?

(a (a+b +c)2

b)) 2(a+b+c)
{¢) <8

d 1

Into how many compartments do the
coordinate planes divide the space ?

(a) 2
(b) 4
(e) 8
(d 16

67.

(21-A)

What is the equation of the plane which cuts
an intercept 5 units on the z-axis and is
parallel to xy-plane ?

(a) x+y=5
(b) z=5

() z=0

d x+y+z=5

If 2 is a unit vector in the xy-plane making an
angle 30° with the positive x-axis, then what
is a equal to ?
V3i+]

—_—

(a) 3

(b)

(c)

(d)

Let A be a point in space such that
FOA | = 13; where O is thie origin. If OA is
inclined at angles 45° and 60° with x-axis and
y-axis respectively, then what is (53 equal

to ?

(@ 61 +6] V3 &

® 6i+6v2] + 6h
© 621 +6]+ 6k
@ 321 +35+ 6k



68. TH T wg A 3 whiwe () Y

o} 4} +5k o §-2f -3k &1 W
ﬁﬁvﬁﬁﬁﬁﬁaﬂ?ﬁaﬁaﬁ?ﬁ%aﬁﬂ

(fireg) e ST TR R 2
@ 21
®) 26
(¢) 31
@ 36
oo, W@ UTER P (9.8 0= e 3R
|| =4 8, | D | fresham??
(&) 8
b) 4
(c) 6
@ 8
70. 3fg wfem
O R S 08 P +25 -3k 3R
2=} +pk owacha & @ pF A TR ?
(a. %
® -1
() b
@ -5
71. x“_‘;’l_._-———“"ija‘3 forh T & 2
(a) . 2
® 2
€ 3
d 6
KJU-S-TMS

72.

73.

74.

75.

(22-A)

@qaaﬁ’tﬁwo-'?cm/secaﬁa{ﬁﬁ@%l

R R F TR R TR ?

(a) 4-4 cm/sec

(b) 84 cm/sec

(¢) 88 cm/sec

(d) 154 cm/sec

of lim x* -1 im x° -k° ot

DR e ppae S & e T Ly

k=02, A k& HH T2 ?

(a)
(b)

(e)

B osloo Wk W

(d)

FraFel THERT % =j[1+(d—y)2fdxﬂ;

dx
A 3R uE (e v feh) o
(a) paiR1
(b) 2R3
© 234
@ 134

lim sinxlog (1—x) mm%,

x—=0 x2
-1

b

(a)
(b)

(c)




68. T:vo a;ijacen: sides‘ of a: par?\llelogram are
2i-4j +5k and i-2j — 3k. What is the
magnitude of dot product of vectors which
represent its diagonals ?

(a) 21
(b) 25
() 31
d 36

. If |axb|?+|%.5 |2=144 and
| ® | =4, then whatis | b | equal to ?
(@ 3
(b) 4
() 6
d 8

70. If the vectors a. =2? —33 - ]2,

B’= ?+2;—3]2and?= 3+p£are
coplanar, then what is the value of p?

(a) 1

(b) -1

() &

(d -5

71. What is x“_’fl x”‘z::s =2 dial to.?
(a): 1
(b) 2
(c) 3
d 6

KJU-S-TMS

72.

73.

74.

75.

(23-A)

The radius of a circle is increasing at the rate
of 0-7 em/sec. What is the rate of increase of its
circumference ?

(a) 44 cm/sec
(b) 84 em/sec
(¢) 88 cm/sec
(d) 154 cm/sec
im x*-1  lim x3_k3

K Xx—1 x—1 =

k # 0, then what is the value ofk?

————, where
ok 2 _p2’

2
(a) 3
4
b =
(b) 3
8
(c) E
d 4
The order and degree of the differential

2
23
equation k-:—i =I[1+[-%JJ dx are

respectively

(a) 1land1l
(b) 2and3
(¢ 2and4
(d 1land4

- lim sin x log (1—x) 9
What is x__)o——"x_2—-— equal to ?
(a) -1
(b) Zero
() -e
@ ==

e




76.

77.

78.

KJU-S-TMS

ﬂﬁﬂx}=312-5x+p3ﬂi f0) 3R f(1) faada
ﬁa%i,ﬁﬁmﬁaﬁﬁﬁ%aﬁww@%?

(a) -2<p<0

b -2<p<2
(0 0O<p<2

(d) 3<p<bH

uﬁew=c+4e¢,aﬁc@ﬁ%w%aﬂt
m,ewww’é,?ﬁmdeﬁm%ﬁm%?

(a) ©Odo

(b) -6do¢

(¢) 40do

(d -46d9

IR plx) = (4e)2* &, A Ip{x)dx foras Tt
&

pi(x)

i 1+2n2

+ C

p(x)

®  Sqizmo

2p(x)
1+in4

+cC

(e)

p(x)

d !
() 1+In2

+cC

81.

(24-A)

nl4

(tan® x + tan x) dx o A TR 2

)|

(a) I
1

b =
(b) 3
(e 1
d 2

A AR s y=32+2 ® | afz x, 108
aafiq et 101 & S &, A y d A REd

TR
(a) 471
(b) 523
() 603

(d 801

SINX oo x e R, x = 0 R Haq

I} fix) =
X

BT R, A x = 0 W HeH B AH
0 B =EY
1 € =g
2 B =R

(a)
(b)
(e)

(@) Truifa 78 T Al




PR o

76. If fix) = 3x% - 5x + p and f10) and f{1) are
opposite in sign, then which of the following is
correct ?

(a)  -2<p<0
(b)) -2<p<2
(¢ O<p<2
(d 3<p<5b

77. If e =¢ + 48¢p, where ¢ is an arbitrary
constant and ¢ is a function of 0, then what is
¢ d6 equal to ?

(a) 6de
(b) -6do
(¢) 46dg
(d) -46de

78. If p(x) = (4¢)?*, then what is I p(x)dx equal

to ?

p(x)

(a) 13553 +c

b p(x)

w) 2(1+2Zn2)+c
2p(x)

» 1+In4 i
p(x)

d

W s

KJU-S-TMS

79.

81.

(25-A)

nl/4

What is the value of (tan® x + tan x) dx ?
0
1
(E) Z
1
b e
‘( ) 2
(-] S |
@ 2

Let y = 3x2 + 2. If x changes from 10 to 10-1,
theﬁ what is the total change in y ?

(a) 471
(b) 523
{c) 6-03
(d) 801
If fix) = sinx, where xeR, istobe

continuous at x = 0, then the value of the
function atx =0

(a) should be 0

(b) should be 1

(¢c) should be 2

(d) cannot be determined




82, aTaTHe WU dy = (1 +y2) dx 1 &1 8

(a) y=tanx+c
(b) y=tan(x+c)
(¢ tanl(y+c)=x

(d tanl(y+¢)=2x

83. I(elog‘+smx} cos x dx ToFaeh sTeR B 7

- 2

4 sin“ x
(a) sSinNX+XCoSX+ 3 +C
; sin® x
(b) sinx-Xcosx+ +c
; sin? x
(¢) xXsinxX+cCcoSX+ 2 +c
L
. sin“ x
(d) xsinx-XxXcosx+ 5 +c

84. e f(x) = cos) (x — 2) T ST (i) F R ?

(a) [-1,1]
b [1,3]
() [0,5]
@ [-2,1]
KJU-S-TMS

85.

86-

87.

(26-A)

a2 = 2x 3R T @ y = x & d" g &
w1 BTG T 8 ?

(a) 1
2
by 1
2
(C) E
d 2

A fix) = 2x - x2 &, A fix + 2) + fix - 2) H
u, 39 feufe # 5@ x =0 &, T & ?

(a) -8
(b) -4
€ 8
d 4

(b) -

(e)

(d), =




82. The solution of the differential equation
dy=(1+y?dxis
(a) y=tanx+ec
(b) y=tan(x+c¢)

() tanl(y+c)=x

(d tanl(y+¢)=2x

What is J.(el"g"-p sin x) cos x dx equal to ?

&'
i)
(a) sinx+xcosx+ 2 X +c
R
(b) sinx-xcosx+ o2 X +c
=<3
(¢) xsinx+cosx+ s +c
0
(d) xsinx-xcosx+ oacl +c
84. What is the domain of the function
fix)=cos™! (x-2)2
(a) [-1,1]
(b) 1I1,3]
(e) [0, 5]
d [-2,1]
KJU-S-TMS

85.

87.

(27-A)

What is the area of the region enclosed
between the curve y?=2x and the straight
liney=x?

1
(a) 'é'
(bh) 1

2
(c) §
ay-. 2

If fix) = 2x — x2, then what is the value of
ﬂﬁ+2)+ﬁx—2)whenx=0?

(a) -8
(b) -4
() 8
(d 4

If ™y = a™*n thon what is % equal to ?
X

my

(a) -
nx

my

nx

(b)

(e) fe—

@ -



) In'[xn:1]+c
X
n
(e) in[ e ]+c
x>t +1
(d) lln[x :1]+c
n X
89. |x-1| % " HH FN 8, &l xe RR? 92
(a) O
b 1
(¢) 2
@ -1

2
90. 1% 9% WH w1 & ey forg X84k o
a b 4

2
(a)
(b)
(c)

(d)

_ 49X frarame i 91.

x % RE S, T TR we A w0
0
1
2
-2
(28-A)

KJU-S-TMS

fix) = o 1* % fory, Fefefaa s ® fEw

Hifer :

1. x=0%W e §aa & |

9. x=0W FoF HeHAHE & |
I WAl § & wE-a/E T /E 2
(a) e 1

(b) e 2

© 13 23

@ FM1L,TIH2

sin x . cos x T AT q= F1 8 ?

(a) 2
B 1
(c) —1-
2
@ 2v2

lim 8*+83%-2
o frgs U B 2

(a) O
)" -1

_(c) 1

@ dm o# A T @ (Fm RemE

T ?)




Consider the

fix) = eIl

following

statements for

* dx 91
88. Whatis ———— equalto? .
I EE+D o
a .
(a) -lln = +c
n " +1
n
(b) zn(‘ :1J+c
X
n
(c) l2 +c
x*+1
n
(d) —l-ln[x +1J+c
n x2
89. What is the minimum value of |x - 1|, where |92,
xeR?
(a 0
@
ey <2
d -1
90. What is the value of k such that integration of
2
ot i 4 with respect to x, may be a|gg
rational function ?
(a) 0
d 1
te): T2
d. -2
KJU-S-TMS (20-A)

I ~ The function is continuous at x = 0-

2. The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only
(b) 2only

(c) Both 1and 2

(d) Neither 1 nor 2

What is the maximum value of sinx.cosx ?

(a). 2
by 1
1
(c) E
@ 2/2
. lim 8*+83%*_9
What is iy = equal to ?
(a o
(b) -1
) S |
(d) Limit does not exist



94. cot-lx % Haw ¥ (% WNH) tanlx F 97. frafafaa wui st famm Hifs -

SaHAA T8 ? 1. BEE fix) = In x I (0, o) ¥ THAH R |
(@ -1 2. Wf(x)=tanx3iﬂ'ﬂﬁ[—-§,g]ﬁ
b) 1 f Eoeick 8|
» 1 I weAl # A BEE/E TE R/ 7
C

x% +1 (a) Fa€ 1
@ ;1 (b) HadA 2

- i ' () 13K 22&!

@ A@M1,AT2

95, BeH ulx,y)=c, S IR FHH

1 i
x(dx—dy)—ry(dy—dx):[)ﬂﬂﬁgqa;m-[%’ 98. y= A %W%W ﬁ,ﬁﬂ%ﬁiﬂﬁﬁ
FRAR? 141 T TH R ?

<2 % & (a)@ﬁﬁ{xeRlx:l}%aﬂIWﬂﬁﬁr)
- ek areafas GEs B qgTed @ |
) et 5 b) S (xeR|x#1)®, WH [yeR|y#012
© x2-yl=xy+c 3R 7T y-1E B (0, - 1) W Vs F
21

@ =xX-y’=2xy+c (0 o arafye GEms w1 gg=d ? 3
W U G {0} R |

(d) W (x eR|x # 1) 8 3R TH y-A8 W

96. 3cas[A+§)iﬁtn§mmw%,aﬁAeR fargatl =1 wg= 2 |
22
99. WWEn[EZ]:xWWW%?
dx

(a) -3

) y=e
i, (a) y=e +c

(b) y=e™+c
1) S /

(¢) y=Ilnx+c
@ 3 (d y=2Inx+c

KJU-S-TMS (30-A)




94. What is the derivative of tan™! x with respect

to cot ™ x ?
(a) -1
{ ) VRS |
-

(e)

1:2 +1
(d) =

x? +1

95. The function u(x, y) = ¢ which satisfies the
differential equation
x(dx-dy)+y(dy-dx) =0, is
(a) x2+y2=gy+c
@) xzfy2=2xy+c
© x*-y?=xy+c
@ x*-y2=2xy+c
96. Whatiat.heminimumvalueof&cos[A+§]
where Ae R?
(a) -3
b -1
©@ 0
@ 3
KJU-S-TMS

97.

m.

(31-A)

Consider the following statements :

: & The function fix) = In x increasés in the
interval (0, ).

2. The function fix) = tan x increases in the
interval (-, X )

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Which one of the following is correct in respect
;&
?

of the graph of y =

(a) The domain is {xe R |x # 1) and the
range is the set of reals.

(b)  The domain is {x € R|x # 1), the range is
{y € R|y # 0] and the graph intersects
y-axis at (0, -1).

(¢) The domain is the set of reals and the
range is the singleton set (0},

(d) The domain is {x € R|x # 1} and the
range is the set of points on the y-axis. -

What is the solution of the differential
equation In [%J =x7

(a) y=e*+c
b)) y=e*+e¢c
(¢) y=lnx+c

(d) y=2lx+ec




100. 7w & & sma & g 2o =ieE b

101.

102.

WMUER EH 1+ b=k ? | 3maa =1 famaw
SEEE w8 2

(a) 2k2
b k2
kz
(C) T
k2
d ——
(d) <

wemiE 4 3 9 H FHewaW wAW: x AW
(x-1% |aﬁmmmei,ﬁxw
o R ?

(a) 2
(b) 3
) 4
d 5

afg @ gl B 3 I W e war @ &
38 @ fdl ot 1 ul W THE Bers S T
A, q W W@ A ow wREwa @ o
FeTeh 9T §EIT 6 AT 7

(a) %
(b) %
(c) ?1!-
@ %
KJU-S-TMS

103. 3fe P(AUB):%, P(AﬂB}:% 3

104.

105.

(32-A)

P{notA)=%ﬁ,?ﬁmﬁﬁaﬂqm¥lﬁ
7T ??

2
{5) - PEB)= y

(b) P(A N B)=PAP(B)
(c) P(AUB)>PA)+PB)

(d) P(not A 3 not B) = P(not A) P(not B)

n Y&oi & 2.5 F AW U fEeE] w1 9Mee 50
2 Yzl F I wge=w F 35 A W M
forae =1 ITHE — 508 | nHI A FTE ?

(a) 60
(b) 60
(c) 80

(d 100

n Y&l % U Alhel WUE (V=) H A

2M ?, Siaf% 2n Y& & TH 7 (W) w3
=E KT WA M ® | WY oAl wUE
(T==) =T HTe TR 7

(a) M

3M
(b) =

2M
(c) ?

4M
(d) 'y




100. Let ! be the length and b be the breadth of a| 103,

rectangle such that /+b=k What is the

maximum area of the rectangle ?
(a) 2k?
b k2
k2
(C) —2"
kz
(d) e

104.
101. The numbers 4 and 9 have frequencies x and

(x - 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(@ 2
(b)) 3
() 4
d 5

102. If three dice are rolled under the condition
that no two dice show the same face, then |105.
what is the probability that one of the faces is

having the mumber 6 7
(a) g

) -g

© %

@ %
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I P(AuB)zg, P(ANB) = % and
P(not A) = % , then which one of the following
is not correct ?

2
(a PB)= 3

(b) P(ANB)=PAPB)
© PAUB)>PA)+PB)

(d) P(not A and not B) = P(not A) P(not B)

The sum of deviations of n number of
observations measured from 25 is 50. The
sum of deviations of the same set of
observations measured from 35 is - 50. What
is the value of n ?

(a) 50

(b) 60

(© 80
@ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

a M

3M
o

(e) ——

b —



syt @i (03) TvAT & fere g

Aeffag T # kg sk sme @7 e F

Sﬁ?ﬁﬁf,’:
e ferenfefat < s
ifas fasm Tfor
10 - 20 8 10
20 — 30 11 21
30 - 40 30 38
40 - 50 26 15
50 - 60 15 10
60 - 70 10 6
106. s fgm i whm § e 6 wen
g &1 3L e siaue § Afwan 2 2
(a) 20-30
(b) 30-40
(¢) 40-50
(d) B50-60.

107. Fre=fefaa waa v fem fifsw

108.

KJU-S-TMS

1. oifrs fgm § = W WEEs AW,
el 30 - 407 o 2 |

o wifys fasm # sl & wifersm (HifsT7),
Tifora o iRt S wTerE A B R |

Iy HuAl § ¥ FA-E/E TE AR 7
(a) Had 1

(b) had 2

(c) 13ﬂ12€|=ﬁ

(@ Fd@1,AE2

“iiferes forgma & a7l 1 wer Reaa B 2
384
39-4
40-9
41-6

(a)
(b)
(c)

(d)

109. Y&t -6, -5, -4, 1,1, V4, V5, /6

110.

111.

(34-A)

=T W faaes w1 8 ?

J2

(b) 2

(a)

© 22

@ 4

7fg faredt Sftm = xF forg
T x; = 20, Sx? =200 3 n = 10 &, A fer=rw
TR 4 R ? '

(a) 80

(b) 100

(e) 150

(d) 200

7q @ $ F wRea @ 6 agsed 91 Y
s aftEd (i ad) & wEh § ufe TEn
& ? |

1
(a) E

1
(b) 7

2
(e) ?
d 1




Directions for the following three (03) ifems :

Read the following information’ ond -answer ks 109. What is the standard deviation of the

three items that follow : observations
Number of students -V6, -6, -V4, -1, 1, Ja, 5, J6 ?
Marks 7 -
Physics Mathematics e
10 - 20 8 10 #
20 - 30 11 21 T
30 - 40 30 38
40 - 50 26 15 © 242
>0 - 60 = £ @ 4
60— 70 10 6

106. The difference between number of students
under Physics and Mathematics is largest for 110. If Y x; = 20 ¥x? =200 and n = 10 Bt an
- -— » l — —

the interval
observed variable x, then what is the
(a) 20-30 4
coefficient of variation ?
(b) 30-40
(c) 40-50 (a) 80
(d 50-60 (b) 100
107. Consider the following statements : (c). 150

1. Modal value of the marks in Physics lies
in the interval 30 - 40.

2. Median of the marks in Physics is less
than that of marks in Mathematics.

Which of the above statements is/are correct ? 111, What is the probability that February of a

(d 200

(a) 1lonly leap year selected at random, will have five
(b) 2only Sundays ?
(¢) Both1land?2 1
(d)  Neither 1 nor 2 ' @z
108. What is the mean of marks in Physics ? ‘b) ]
@) 384 g
(b) 394 (¢c) %
(¢) 409
@ 416 @ 1
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112. 100 Y0l =1 GHTGE WL 40 B | WG H, TW A=A 115. 21 (2) STeE 3R F (2) I & T wE A
o 5w S 53 T § 89 g fon ¥ 36 v il w2 | @ AW A
T T | W GHiE AT & 8 ?

sifirrar & fr m wfafa & 2 aree it 1 wfernt

(a) 398 i
(b) 397 .

(c) 396 (a) g‘
@ 395 :
®
113. w & vz 1 2 fwEE F fo v uf ofw ool R
c —_—
wsh ETeHR % for 3ufe ge | ofd & 9 W A
$ whwa o ¥ ol v F @ AR gt 3
2

s+ # 1 AR A v w € @
Frtferf # 3 et i 1L 22
(a) I ¥ Hu-Y-H9 et v & A S@n
(b) I A Hae U HI & A AT
(¢ 399 & fonet = oft =& g Smem

(@ 3 S BT Sm 116. 18 mﬁwimiﬁ:amﬁa:ihﬁqaﬁaizﬂﬁ%
s Ty 2 e Fee W & | wa Wik B

114, v foaw % T8 15 @0 ggie (Re) w1 o6 foraprat o g1 el W T weATd & 2
we & fml & 6 ol (@R) & | @ Al

15 Tl gEred § & 4 AgeSA gAA B | W GRS

e 6 5 T w s et # 2 o
i 1

(a) 31“ {b) 2
4

b) — 2
91 ; (c) 15
6

(e) —
91 s 2
15 4

CR
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112. The arithmetic mean of 100 observations is 40.
Later, it was found that an observation 58’
was wrongly read as ‘83". What is the correct

115. A committee of 3 is to be formed from a group
of 2 boys and 2 girls. What is the probability

arithmetic mean ? that the committee consists of 2 boys and
irl ?
(a) 398 o}
(b) 397 2
(a) §
() 8986
(b) 1
113. A husband and wife appear in an intervew for i
two vacancies for the same post. The (c) 7}
probability of the husband’s selection is % and
that of the wife's selection is % If the events @ 1
are independent, then the probability of which *
one of the following is % ? ‘

(a) At least one of them will be selected
(b)  Only one of them will be selected
(e)  None of them will be selected

@ ~Both of thémwill besslected 116. In a lottery of 10 tickets numbered 1 to 10, two

tickets are drawn simultaneously. What is the

probability that both the tickets drawn have
114. A dealer has a stock of 15 gold coins out of
which 6 are counterfeits. A person randomly
picks 4 of the 15 gold coins. What is the

prime numbers ?

1
probability that all the coins picked will be (a) T3
counterfeits ?

1
(a) — 1
91 (b) 3
R
91 9
(c) —
B 2 e
91
i w23
(d) 91 5
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117. wr wife f6 X 3f ¥ e sieewma i gag

118.

i feh o 1 i (T H) F o2 W@
fe gon & f6 X = 65, Y = 67, ox = 25,
oy =35 A kX, V=08 I XWYH
greEe (Foew) &1 et #4987

(a) Y=0176X-5
(b) Y=112X-58
¢ Y=112X-5

d Y=017X+58

wF AEfss W X W fmm Hife S s
n=1oaﬂtp=%%m&qaaiammgaw
FAT R | T8 Y = 10 - X I=El n 3 p F G
oz w2 W1 SEE A & | 36 g d o 3R
p%\"ﬂﬁm:%

1

§n

(a) 5
T
5

@
5

@ 10,2
5

KJU-S-TMS

(38-A)

119. a2 A 3t B v 3@ w6 € f6 P(A) = 06,

P(B):ﬂ-ﬁ&h?{AnB):o-qj,?ﬁﬁﬁ%ﬁtﬁ
Eﬂﬁ“ﬁlﬂ(ﬁﬁ"{

1. P(AUB)=09.

2. P(B|A)=06.

I Fel § @ BAA/E TE AR 2
(a) %ad 1

(b) HaA 2

(© 1323

@ TAM1,T7@2

120. dF @Y X, Y 3R 2 w faim wER # F6

T £, 98 %% F I TR A T T (FEHA
) ® Wi HE: 002, 0-08 I 0-05

% | o Y 3 wm %@ # a8l F 50%

X ST 2, 30% $F Y 1§ 3R 20% H6 2
TR | X U A Al FEEaAd B

9T TR ?

9
(a) -2'6

10
(b) 29

19
(e) ﬁ

28

S LT

29




117. Let X and Y represent prices (in %) of a|119.

commodity in Kolkata and Mumbai
respectively. It is given that X = 65, Y= 67,
ox = 2'5, oy = 3'5 and (X, Y) = 0-8. What is
the equation of regression of Y on X ?

(a) Y=0175X-5
(b) Y=112X-58
() Y=112X-5
d Y=017X+58
120.
118. Consider a random variable X which follows
Binomial distribution with parameters n = 10
and p & % Then Y = 10 — X follows Binomial

distribution with parameters n and p

respectively given by

(a) 5; -;~
® 5, -§-
© 10, g
@ 10, %
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If A and B are two events such that P(A) = 06,
P(B) = 0-5 and P(A N B) = 0-4, then consider

the following statements :

1  P(AUB)=049.

2. P(B|A)=06.

Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

ThreecooksX,Ya.ndeakeaspecialkindof
cake, and with respective probabilities 0-02,
0-03 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the

proportion of failures caused by X ?

9
(a) 55

10
(b) 29

19
(c) —2'5

28
S Tt
d 29
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.BC.: KJU-S-TMS Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

4.

s.
7.

B.

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. ‘

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answer to every question. For each question for which a m answer

ha.salieen given by the candidate, one-third of the marks assigned to that question will ucted as

penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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